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- Suppose A and B are two events with
P(A) =08 and P(AUB) =0..

Is it possible for A and B to be both mu-
tually exclusive and independent?

a yes
b no
c there isn’t enough information to decide
.\,l‘ue }{‘ two 'C\)‘CV\*‘\
Q\'c V\thbl
b Mutually exclusive implies dependency
a P(B) = 0 makes A and B ME and independent
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One ball is drawn randomly from a bowl containing four balls numbered 1, 2, 3, and 4. Define the following three events:

 Let A be the event thata 1 or 2 is drawn. Thatis, A = {1,2}.
e Let B be the event that a 1 or 3 is drawn. Thatis, B = {1, 3}.
 Let C be the event that a1 or 4 is drawn. Thatis, C = {1,4}.
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1. Ten cards are dealt off the top of a well shuf-
fled deck. The binominal formula doesn’t
apply to find the chance of getting exactly
three diamonds because:

a The probability of a trial being successful
changes

b/The trials aren’t independent

c There isn't a fixed number of trials

d more than one of the above X
A \a\ s weler @ Card W He Leck % & diemand
ov vot. Theve ave 10 trelals,
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